
Lesson14 <受動態２> 

確認問題 

 

１ 次の文を受動態に書きかえた文として正しいのはどれか。記号で答えなさい。 

 

He must do this work. 

 

ア This work must is did by him. 

イ This work must is done by him. 

ウ This work must be doing by him. 

エ This work must done by him. 

オ This work must be done by him. 

 

 

２ 空所補充 

(1) 夜ここではたくさんの星が見られる。 

Many stars ( )( )( ) here at night. 

(2) この町を来年多くの人びとが訪れるでしょう。 

This town ( )( )( ) by many people next year. 

(3) その新しい図書館は多くの人びとによって利用されるでしょう。 

The new library ( )( )( ) by many people. 

(4) この車は彼が洗うべきだ。 

This car ( )( )( ) by him. 

 

 

３ 次の文をあとの指示に従って受動態の文に書きかえなさい。 

He told ①me ②the story. 

(1) 下線部の①の語を主語にして 

→ [ ] 

(2) 下線部の②の語を主語にして 

→ [ ] 

 

 

４ 適語選択、訳 

(1) I am (interesting, interested) (by, at, in) science. 

[ ] 

(2) He was (surprising, surprised) (to, at, in) the noise. 

[ ] 

(3) The doctor is (knew, known) (in, with, to) children in the village. 

[ ] 

(4) I am (satisfy, satisfied) (in, with, to) your work. 

[ ] 

(5) This box is (making, made) (in, of, from) paper. 

[ ] 

 


